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1.	 3 2
6 2
4 3

2 1
3

$-
-

-
+

^ eh o
	 (ñ6 + ñ2)	 (ñ2 – 1)

= (ñ3 – ñ2).
4 3

4
6 2

1
3 2 1+

-
-e ^ ^h h o

= (ñ3 – ñ2).(ò18 + ñ6 – 3ñ2 + 3)

= (ñ3 – ñ2).( 3 2  + ñ6 – 3 2  + 3)

= (ñ3 – ñ2)(ñ3.ñ2 + ñ3.ñ3)
= (ñ3 – ñ2)(ñ3(ñ2 + ñ3)
	
= 1.ñ3 = ñ3  bulunur.

Cevap: B

2.	 	 . x y27 1 8 13 3- + +^ ^h h 	= 8

	 x y125 1 13 3- - +^ h 	= 9

	 3. x y1 2 13 3- + + 	= 8

  2/	 5 x y1 13 3- - + 	= 9

	 3 x y1 2 13 3- + + 	= 8

+	 10 x y1 2 113 3- - + 	= 18

	 13 x 13 - 	= 26

	 x 13 3
-^ h 	= (2)3

	 x – 1	= 8   ⇒   x = 9
Cevap: D

3.	 	 x y3 3 2
-^ h 	= (3)2

	 9x + 3y – yx6 3 	= 9

                xy3  – x – y = –1

             xy3  = x + y – 1  yazılır.

	 9x + 3y – 6(x + y –1)	= 9
	 9x + 3y – 6x – 6y + 6	= 9
	 3x – 3y	= 3
	 3(x – y)	= 3   ⇒   x – y = 1  bulunur.

Cevap: C

4.	
36

32 128 98- +

= 4 2
6
8 2 7 2- +

= 3 2
6 2

2
=   bulunur.

Cevap: A

5.	 	 x x6+ - 	 = 18

x	 x x6+ + 	 = A    olsun

	 .x x x x6 6+ - + +^ ^h h	 = 18.A

	 x x6 2 2
+ -^ ^h h 	 = 18.A

	 x  + 6 – x 	 = 18.A
	 6	 = 18.A

	 18
6 	 = A   ⇒   A = 3

1   bulunur.

Cevap: E

6.	 ñx = a  olsun

a2 – a
7  = 8   ⇒	 a3 – ñ7 = 8a

	 a3 – 8a = ñ7  olur.

*  
. a aa a a a

a
7
1

77
1 7

a
22

7
-

=
-

=
-

+

+

^ ^
^

h h
h

ñ7 yerine a3 – 8a yazalım

= 
a a
a a a
7
8

2
3

-

- +

^ h  = 
a a
a a
7

7
2

3

-

-

^ h

	 = 
a a
a a

7
7

1
2

2-

-
=-

^
^

h
h   bulunur.

Cevap: B
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7.	 ,
,

,x
x

5
12

2 5 10
0 14 100

0 3
1

3
2

+ + +
^
^
h
h

= 5
12

3
10

3
2 425

14
+ + + =

= 5
12

25
14 4+ +

= 5
12

25
14 2+ +

= 5
12

25
64

+

= 5
12

5
8

+ 	 = 5
20

	 = ñ4 = 2  bulunur.
Cevap: D

8.	 	 x
x

5
5

2

+

-e o 	 = (5 – ñx)2

	 x
x

5
5 +
- 	 = (5 – ñx)2

	 (5 – ñx)

	
x
x5

5
2

2

-

-^ h
	 = (5 – ñx)2   →  

x
x

5
25

2

-

-^ h
 = x5 2

-^ h

		  25 – x	= 1

i)		  1	= 25 – x
		  x	= 24

Cevap: A

9.	 ñ3 – ñ2 = x2

A3 1 3 1
2 2+ - - =^ ^h h   olsun.

	ñ3 + 1 + ñ3 – 1 – 2 3 1 3 1+ -^ ^h h 	= A2

	 2ñ3 – 2 3 1- 	= A2

	 2ñ3 – 2ñ2	= A2

	 2(ñ3 – ñ2)	= A2

	
	 x2 2 	= A2

	 ñ2.x	= A  bulunur.
	 xñ2	= A

Cevap: A

10.	 	 x x x
3 27 243+ + 	= 54

156

⇒	 x x x
3 3 3 9 3
9 3

+ +

^ ^h h
	= 54

156

	 x x x9
9 3
3+ + 	= 54

156

	 x13
9 3

	= 54
156

6

12

	 x
3

2
c m 	= (2)2

	 x
3 	= 4

	 x	= 12  bulunur.

Cevap: E
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11.	 x = 35   ve   y = 600

x y x y 2
+ - -^ h  = (A)2

	x + y + x – y – 2 .x y x y+ -^ ^h h 	= A2

	 2x – 2 x y2 2- 	= A2

	 2.35 – 2 35 6002 2
-^ ^h h 	= A2

	 70 – 2 1225 600- 	= A2

	 70 – 2 625 	= A2

	 70 – 2.25	= A2

	 70 – 50	= A2

	 ò20	= A2

	 2ñ5	= A  bulunur.
Cevap: C

12.	 	 xñx – 8ñx	= 7
	xñx – 7ñx – ñx	= 7
	 xñx – ñx	= 7 + 7ñx
	 ñx(x – 1)	= 7(1 + ñx)
	
	 (ñx)2 – 1
	 .x x x1 1- +^^ ^h hh = 7 x1 +^ h
	 x – ñx	= 7  bulunur.

Cevap: C

13.	 = ,
9
144

4 3
100
25

10000
256

+ -

= ,
3
12

100
25

100
16

4 3

+ -

= ,
3
12

100
9

4 3

+
 = ,4 3

3
12

10
3

+

= 30
120 9

10
43

+

 = 30
129

43
10

3

$  = 1 bulunur.

Cevap: A

14.	 x.y = 9
(ñx – ñy)2 = (ñ3)2

x + y – 2 .x y  = 3
	
	 9
	 x + y – 6	= 3
	 x + y	= 9 bulunur.

Cevap: D

15.	 a = 3ñ2 + 1   ⇒   a – 1 = 3ñ2
a2 – 2a + 3 = a2 – 2a + 1 + 2
	
	 = (a – 1)2 + 2
	 = (3ñ2)2 + 2
	 = 18 + 2
	 = 20 bulunur.

Cevap: A

16.	 	 m	 =	 5
2 1

1
+

-

	 		  	 Bölecek olursak

	 A	 =	
5 1
2 1
+

-

	 A
m 	= 5

2 1
1

2 1
5 1

$
+

-

-

+

	 A
m 	= 2 1

5 1
1
4

-
-
=

	 A	= m4  bulunur.

Cevap: C



4

59.59.59.

TA
SA

R
I 

E
Ğ

İT
İM

 Y
A

Y
IN

L
A

R
I

80 8080 8080 80net‘de
ÇÖZÜMLER

17.	 	 ña – 
a
6 	 = 1

	 (a – 6)2	 = (ña)2

	a2 – 12a + 36	 = a
	a2 – 13a + 36	 = 0
	 ↓
	 a	 –9	 ⇒   a = 9
	a	 –4	 ⇒   a = 4
a = 9  sağlıyor.

O halde a3 273 3=  = 333

	 = 3 bulunur.
Cevap: C

18.	 	 .n 20255 3 	 = 202573  (dereceleri eşitleyelim)

	 .n 202515 96 	 = 2025146

	 n15.20259	 = 202514

	 n15	 = 20255

	 n3	 = 2025

	 n	 = 20253

Cevap: B

19.	 	 6
6 2 3 1

3
- + -

+ 	= m + nñ3

	
.

.3
3 2 2 3 1

2 3
- + -

+ 	= m + nñ3

	
3

2 3 1 3 1
2 1

- + -

+

^
^

^h
h

h 	= m + nñ3

	
3

3 1 2 1
2 1

- +

+

^
^
^h

h
h 	= m + nñ3

	 3
3 1

13
-
+^ h

	= m + nñ3

	 3 3
2
+ 	= m + nñ3

	 3 + ñ3	 = 2m + 2nñ3

	 2m = 3   ⇒   m = 2
3  ,   2n = 1   ⇒   n = 2

1   

O halde

	 m + n = 2
3

2
1

2
4 2+ = =

Cevap: D

20.	 	
x

x
x x1

4 1
4 1
-

+ + +^ h
	= 1

	 .x x x1 2 1+ + +^ h 	= 4x – 1

	 x x1 1 2+ +^ h 	= (2ñx – 1) x2 1+^ h

	 x 1 2
+^ h 	= (2ñx – 1)2

	 x + 1	= 4x + 1 – 4ñx
	 4ñx	= 3x	 (x = ñx.ñx)
	 4	= 3ñx

	 (ñx)2	= 3
4 2
c m

	 x	= 169   bulunur.

Cevap: A


